] algebraically check one solution. Show all work
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2. If the demand/price function for a company 1s p(X) = _ —— and x is the number of
2x" =3x-7
sales in_thousands, find:
a) The revenue ( R(x) ) function for this company
L

b) The average rate of change in revenue between 2000 and 6000 sales. Final answer

2 decimals
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Part B - Application (25)

1
I. Sketch a gr; > gr )
e g ‘L_mph‘ on the graph paper provided, of f(x) = -0.5x" - 2x + 2.5, including all
ajor points. Show ., U ' | L
jor points. Show work Use thi graph to sketch a graph of the reciprocal function

f(x) = .

-0.5¢=2x + 2Q

Show work to get all major points, asymptotes and label on the

graph.
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2. Sketch the ¢ - 24
graph of f(x) =
: ph of f(x) = . Label all asymptotes, intercepts and points used
Show work_ e ‘(‘YL
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Alana takes a certain amount of time to clean and wash a car. Brad takes 12 minutes more
than Alana and together they take 20 minutes. How long does 1t take each person to wash

and clean a single car on their own? Use algebraic solution with final answer to 2 decimals
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Part C - ommunication( &
!

1 For the function g(x) = ——

Explain why cach of the folloy
equation or point

Q) a) Vertical asymptote

naractenstics s present or not and find the appropriate

b) Horizontal asymptote
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Part D - Thinking & Inquiry( u)

1. Brad bought some vig
for $1020, making a p
Set up an appropriate

€0 games t_Of $900. He kept 3 games for himself and sold the rest
rofit of $15 on each game. How many games did he buy originally?
€quation and give an algebraic solution.
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G e 2. Make up a rational equation that has a vertical asymptote at x = -4 and an oblique
omc[uot*“ asymptoteat y = x-3.
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